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1|FE #X 42 43 85 15.6 69. 4 61 |#ME 49 43 92 18.0 74.0 121 (LA %3] 53 92 105 28.8 16. 2 181 |i# &L= b8 49 107 21.6 79. 4
2 |tk ® 41 42 83 13.2 69.8 62 [ix E— 49 49 98 24.0 74.0 122 | &— 53 52 105 28.8 76.2 182 |fhlL & 56 57 113 33.6 79. 4
3 |HFB =H 44 | 44 88 18.0 70.0 63 |&HF X 50 | 48 98 24.0 74.0 123 |EmHE EBxX 55 50 105 28.8 76. 2 183 /Mg = 59 60 119 39.6 79. 4
4 |[EHR & 90 49 99 28.8 10. 2 64 [t BE 48 50 98 24.0 74.0 124 |28 FEF 05 56 111 34.8 16. 2 184 |k E=E 44 50 94 14. 4 79.6
S [£H @ 46 40 86 15.6 70. 4 65 (IR HME 38 47 85 10.8 14.2 125 |[(KBE BEE 44 48 92 15.6 76.4 185 [REF f&— 54 46 100 20.4 79.6
6 |hH HER 47 50 97 26. 4 70.6 66 | KFE &= 46 45 91 16.8 74.2 126 |FuE 56 53 109 32.4 76.6 186 |FFt #E 51 49 100 20.4 79.6
7 |lUA R 95 48 103 32. 4 70.6 67 [ILs F0E 50 | 41 91 16. 8 14.2 127 (¥R EH 60 05 115 38. 4 76.6 187 |7ER #h 48 45 93 13.2 79.8
8 |EM =i 46 44 90 19.2 70.8 68 |H%F H=E 45 39 84 9.6 74. 4 128 |#&ZE FIA0 48 42 90 13.2 76.8 188 |#EH HX 44 | 49 93 13.2 79.8
9 |Ax M 42 41 83 12.0 71.0 69 |Fa+ EFE 50 46 96 21.6 74.4 129 [/NE  HfE— 45 51 96 19.2 76.8 189 |#H #= 49 56 105 25.2 79.8
10 [BEF HF 41 42 83 12.0 71.0 70 [ AKX ol b1 102 21.6 14. 4 130 |t Z@E ol 45 96 19.2 76. 8 190 |#1RE  IERK 99 58 117 31.2 79.8
11 [#E  BF 43 46 89 18.0 71.0 n|EH A&— 51 44 95 20.4 74.6 131 | EE& 49 47 96 19.2 76.8 191 |WKX E=EF 56 54 110 30.0 80.0
12 |Fi8  BE 49 46 95 24.0 71.0 12 [i#HE FIx 52 49 101 26.4 74.6 132 |EJ\ & 59 55 114 37.2 76. 8 192 |UX EH 48 49 97 16.8 80.2
13 [ B 4] 41 88 16.8 71.2 13 [#E  FlEk 93 60 113 38.4 74.6 133 [MFfT A& 51 44 95 18.0 11.0 193 |#2H 1E# 52 50 102 21.6 80.4
14 |FE RA 42 39 81 9.6 71. 4 14 KB % 37 39 76 1.2 74.8 134 [INE BF 48 47 95 18.0 71.0 194 | K;I EE 56 52 108 27.6 80.4
15 |8 EiR 53 46 99 27.6 11.4 % |ZF& Ik 44 | 44 88 13.2 74.8 135 |3 RIE 51 50 101 24.0 17.0 195 |% BH 58 | 61 119 38.4 80.6
16 |t & 56 49 105 33.6 11. 4 76 [l #F 47 41 88 13.2 74.8 136 |57 FE 05 46 101 24.0 71.0 196 |/h2 & 54 52 106 25.2 80.8
17 WA #2if 53 45 98 26. 4 71.6 77 |4t ERE 52 48 100 25.2 74.8 137 (¥l EHA 54 47 101 24.0 71.0 197 |B% IEfE 54 58 112 31.2 80.8
18 |RITA 1EMA 49 49 98 26.4 711.6 18 |1FEE In 51 49 100 25.2 74.8 138 [HF ER 59 48 107 30.0 17.0 198 |[BERK AE 52 | 53 105 24.0 81.0
19 B Rt 38 41 79 1.2 71.8 19 |iEZ BIX 48 52 100 25.2 74.8 139 (X {E— 59 b4 113 36.0 71.0 199 (FIE FHHH 61 56 117 36.0 81.0
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23 MR EE 48 42 90 18.0 712.0 83 |HE HB— 43 50 93 18.0 75.0 143 |HEH # 46 47 93 15.6 17. 4 203 |Z2K EBFd 54 b5 109 27.6 81.4
24 |[AAX BAx 48 42 90 18.0 12.0 84 [rniE A 52 | 47 99 24.0 75.0 144 |#H I1EXE 51 48 99 21.6 17.4 204 |85 K {EF 58 56 114 32. 4 81.6
25 (Il FB 43 40 83 10.8 12.2 85 |BEEH HHA 59 56 115 40.0 75.0 145 |E£H —H 52 47 99 21.6 11.4 205 (&% 1& 53 59 112 30.0 82.0
26 |/M#k BAZE 49 40 89 16.8 12.2 86 [(B/K IEME 49 43 92 16.8 15.2 146 |BJ)Il 1E= 51 54 105 27.6 17. 4 206 |#AEH £ 7 57 53 110 27.6 82.4
21 |[&#F &KX 47 48 95 22.8 12.2 87 |BK Z#E 49 49 98 22.8 15.2 147 (R X5 58 53 111 33.6 17.4 207 |#BfF = 55 48 103 20.4 82.6
28 |ERE FE 54 47 101 28.8 12.2 88 |JEH FEAR 42 56 98 22.8 75.2 148 |—f &hid 57 54 111 33.6 11. 4 208 (F8)Il Ehf b5 54 109 26.4 82.6
29 [BA =AI 43 39 82 9.6 12. 4 89 M/ IE— 56 48 104 28.8 75.2 149 (¥ FRE 51 47 98 20. 4 71.6 209 |f0@ = 57 51 108 25.2 82.8
30 |&£@ # 48 46 94 21.6 12.4 90 |/hE {E—ER 55 49 104 28.8 15.2 150 [ =B 53 45 98 20. 4 17.6 210 (BEH =EB8 61 59 120 37.2 82.8
31 |15 ®H— 54 46 100 27.6 12. 4 N iz & 53 51 104 28.8 75.2 151 |#tE #® 54 50 104 26. 4 71.6 211 [(B&E & 10 4] 117 33.6 83.4
32 (/R B 50 50 100 27.6 12. 4 92 |BnEr 1E— 59 51 110 34.8 15.2 152 (¥t BF 55 55 110 32. 4 71.6 212 |#tA F 58 60 118 33.6 84.4
33 |AN =F 52 b4 106 33.6 12. 4 93 |&H IE¥ 46 39 85 9.6 715. 4 153 |l =4 55 05 110 32. 4 11.6 213 [#*LE  #F0 63 60 123 38.4 84.6
34 iZE # 45 42 87 14.4 12.6 94 1B/l FA 46 45 91 15.6 75. 4 154 |WWi  Fr 52 45 97 19.2 71.8 214 |'B #£4 52 51 103 18.0 85.0
B |FhHF =B 51 48 99 26. 4 12.6 9% |EA /= 47 44 91 15.6 75. 4 155 |Mnfk 60 49 109 31.2 71.8 215 |#af K& 57 60 117 31.2 85.8
6 |EE EB 53 o8 111 38. 4 12.6 9 [&JII BEAA o1 46 97 21.6 715. 4 156 |5H JEF 49 4] 96 18.0 18.0 216 (4Ll FOkE 66 60 126 40.0 86.0
37 |!hE8 B 48 44 92 19.2 712.8 97 |MfH IE=x 51 46 97 21.6 75. 4 157 |Mfr FRKF 53 55 108 30.0 78.0 217 (4L 2 56 52 108 21.6 86.4
38 |AE R— 47 51 98 25.2 72.8 98 |H% F=E 53 44 97 21.6 75. 4 158 |l #R&E 60 48 108 30.0 78.0 218 | KE HH 68 58 126 38.4 87.6
39 |[AR 40 45 85 12.0 13.0 9 {EEH =3} 92 o1 103 21.6 715. 4 159 |RE EALC 29 49 108 30.0 18.0 219 |&2% B 65 65 130 40.0 90.0
40 |dtE E=E 45 40 85 12.0 713.0 100 (T 42 50 53 103 21.6 75. 4 160 [HZ B=x 48 47 95 16. 8 18.2 220 |HF EE 70 60 130 40.0 90.0
M |H%F FE 45 46 91 18.0 73.0 101 |deJil Fl== 47 43 90 14. 4 75.6 161 |#&EHA 1E 48 53 101 22.8 78.2 221 | £% HF 62 69 131 40.0 91.0
42 | K& =57 90 93 103 30.0 13.0 102 [BRE 1EA 4] 43 90 14.4 75.6 162 (A)Il &= 90 38 88 9.6 18. 4 222 |FFEH B— 68 63 131 40.0 91.0
43 | LB &7 56 53 109 36.0 73.0 103 |#&8/F XM 53 43 96 20.4 75.6 163 |FAY 48 46 94 15.6 78. 4 223 (ATEH # 68 68 136 40.0 96.0
44 (4 {E—HA 50 52 102 28.8 13.2 104 (FH EX 46 50 96 20.4 75.6 164 |J\K E*x 52 48 100 21.6 78. 4
45 |lufz BF o8 50 108 34.8 13.2 105 | LB {&3h 95 53 108 32.4 75.6 165 &% #2X 57 49 106 27.6 18. 4
46 |FH KZEHE 46 37 83 9.6 713. 4 106 |LLO  1&F] 55 53 108 32.4 75.6 166 |EH =& 49 44 93 14.4 78.6
47 M IERXR 50 45 95 21.6 13. 4 107 |EEH B= 44 45 89 13.2 75.8 167 |mEp & 55 62 117 38. 4 78.6
48 [ZM & 52 49 101 27.6 13. 4 108 [ZR Rk 57 44 101 25.2 75.8 168 |XE —If 45 47 92 13.2 78.8
49 |EE BR 47 47 94 20. 4 713.6 109 |B%F ®E=E 56 57 113 37.2 75.8 169 |&HH B 56 48 104 25.2 78.8
50 |48  A#0 51 43 94 20. 4 713.6 110 (iR ZFX 46 42 88 12.0 76.0 170 I+ i 57 53 110 31.2 78.8
51 | KIE FBE} 55 b1 106 32.4 13.6 111 | F— 49 45 94 18.0 76.0 171 3 =F 61 49 110 31.2 78.8
2 [BH R= 54 52 106 32. 4 713.6 112 |FH A 49 45 94 18.0 76.0 172 |R¥ shF0 51 52 103 24.0 79.0
53 |iZ%x IE 54 | 58 112 38.4 13.6 113 |FIl  #8i 51 49 100 24.0 76.0 173 |z =E 59 | 56 115 36.0 79.0
54 |FE & 39 42 81 1.2 73.8 114 |ftEH FE 49 51 100 24.0 76.0 174 |\BH 2 47 49 96 16.8 79.2
55 |t K & 43 50 93 19.2 73.8 115 |2 K BEFH 51 65 116 40.0 76.0 175 |#% Rz 51 45 96 16.8 79.2
56 | KB &5 48 | 45 93 19.2 73.8 116 |FL &EX 41 40 81 4.8 76.2 176 [HE XX 58 50 108 28.8 19.2
57 |Bf Eth 49 44 93 19.2 73.8 17 i BE= 49 44 93 16.8 76.2 177 | L% ZEF 63 b1 114 34.8 79.2
58 |KIR == 45 41 86 12.0 74.0 18 |H¥3F & 46 47 93 16.8 76.2 178 |{Fi#E HF 62 52 114 34.8 79.2
59 |2H #IE 49 43 92 18.0 74.0 119 |MAEL X 45 | 48 93 16.8 76.2 179 (LR SRIGED 46 | 43 89 9.6 19.4
60 |8 M= 46 46 92 18.0 74.0 120 |3 50 49 99 22.8 76.2 180 [Arly {EZEBR 46 49 95 15. 6 79. 4
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